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SH: 2AR
My MY ZINME X4
Sl HS THAME X4 CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
01 | 26,000 26,000 0
QHLUMAI JIZXNESEE EE5 29 10,000
OXH EEE A2XA 24 16,000
301 et A= 10,740 5,140 5,600
09 HAIAHI X & 2 2,000 0 2,000
OFE @ 3o EFAX Ad B4
8,000 * 250 2,000
12 JIEtE2 A= 8,740 5,140 3,600
OddlAl 22 SS9 X A1 B3 5,000
OFEIHd=x 828 Za=2 3,500
OACIHN2AIZ &= AlY B4
20,000 * 6 * 23] 240
403 XX EHHS K20 A 11,997 12,090 A 93
02 Z2I)|2SoUetI =22 E A HI 11,997 12,090 A 93
OFte(Ee MANRLIHE)AIAHE SIE24 &
29X 11,997
SHE A AH| (AR 60,450 71,724 A11,274
Jleddl 60,450 71,724 A 11,274
Jl2 &4l 60,450 71,724 N 11,274
201 et 9| 26,124 26,124 0
01 AP 22| d| 26,124 26,124 0
OJIg AIREZ8 2| 11,000
OEAD X2 120,000 = 12& 1,440
O&FLD| X 92,0008 = 12&€ 1,104
O0f2t & S222X 24|
740,0008 « 17H 12,580
202 044l 28,560 40,800 N 12,240
01 2L Y| 28,560 40,800 A 12,240
O 2 JI2g? =8 s&04|
140,000 = 17 * 12€ 28,560
203 €2 F=&d| 3,600 3,600 0
04 EANSIELRF=XH| 3,600 3,600 0
ORI YR 300,0008 = 12& 3,600
204 &R = A H| 1,200 1,200 0
01 Mg HRSHAH| 1,200 1,200 0
OWE MNZ JdL24sHAHH| 100,000& * 128 1,200
405 KHoHFE S HI 966 0 966
01 XAt 2 E F S| 966 0 966
OS2 MAMIED] 1| 965,760 * 14 966




